FIBO BIT

Count the number of numbers between two 64 bit numbers a, b that have the sum of their bits
equal to a fibonacci number. E.g Between 15 and 17 there are two numbers that have sum of bits
equal to a fibonacci number.

15:1111 sum=4
16: 10000 sum=1 (fibonacci)
17:10001 sum=2 (fibonacci)

Input

The 2 numbers start and end

start<end < 10718

Output

The number of such numbers between both start and end inclusive
Example

Input:

1517

Output:

2


http://www.careercup.com/question?id=14214664
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